

MULTIPLICITY RESULTS FOR A CRITICAL AND SUBCRITICAL SYSTEM INVOLVING FRACTIONAL p -LAPLACIAN OPERATOR VIA NEHARI MANIFOLD METHOD

ZEDIRI SOUNIA^{1,a}, AKROUT KAMEL^{1,b}
AND GHANMI ABDELJABBAR^{2,c}

¹LAMIS Laboratory, Larbie Tebessi University, Tebessa, Algeria.

^aE-mail: sounia.zediri@univ-tebessa.dz

^bE-mail: kamel.akrout@univ-tebessa.dz

²Department of Mathematics, Faculty of Sciences, Tunis El Manar University, Tunis 2092, Tunisia.

^cE-mail: abdeljabbar.ghanmi@lamsin.rnu.tn

Abstract

In this paper, we study the existence of multiple solutions to some sub-critical and critical systems involving the fractional p -Laplacian operator. Our main tools are based on variational methods. Precisely, the Nehari manifold method combined with fibering map are used in the study of the sub-critical case. While in the critical one, we use the mountain pass theorem combined with Nehari manifold and Brezis-Lieb lemma.

1. Introduction

In this paper, we investigate the multiplicity of nontrivial solutions to the following elliptic system involving the p -fractional Laplacian

$$\begin{cases} (-\Delta)_p^s u(x) = F_u(x, u, v) + \lambda G_u(x, u, v) & \text{in } \Omega, (u, v) > 0, \\ (-\Delta)_p^s v(x) = F_v(x, u, v) + \lambda G_v(x, u, v) & \text{in } \Omega, \\ u = v = 0 & \text{on } \mathbb{R}^n \setminus \Omega, \end{cases} \quad (1.1)$$

where $\lambda > 0$, $\Omega \subset \mathbb{R}^n$ is a smooth bounded domain, $0 < s < 1 < p$ and $n > ps$, the exponents p, r and q satisfy $0 < r < 1 < q \leq p_s^*$, $p_s^* = \frac{np}{n-sp}$

Received 4 January, 2022.

AMS Subject Classification: 35P30, 35J35, 35J60.

Key words and phrases: Variational method, Nehari manifold, elliptic equation, multiple solutions.

is the fractional critical exponent. $F, G : \Omega \times \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ are smooth functions satisfy further assumption which will be given later. $(-\Delta)_p^s$ is the p -fractional Laplacian operator defined on smooth functions by

$$(-\Delta)_p^s u = 2 \lim_{\varepsilon \rightarrow 0} \int_{\mathbb{R}^N \setminus B_\varepsilon(x)} \frac{|u(x) - u(y)|^{p-2} (u(x) - u(y))}{|x - y|^{n+sp}} dy, x \in \mathbb{R}^n. \quad (1.2)$$

Problem involving fractional Laplace operator has been given considerable attention since the area arises in a quite natural way in many different contexts, such as the thin obstacle problem, finance, phase transitions, anomalous diffusion, flame propagation and many others see for instance [1, 2, 3, 4] and references therein. Recently, the corresponding non-local problems with nonlinear terms involving fractional Laplacian operator have attracted the attention of many researchers, both for their interesting theoretical structure and their concrete applications see for example the papers [6, 31, 28].

In the literature, many papers discuss quasilinear elliptic problem involving p -fractional operator in which the technical approach adopted is based on the Nehari manifold method and fibering maps. We refer to [21, 32, 33, 37] for the subcritical case and to [35, 36, 37] for the critical case. The multiplicity of solutions to problems similar to (1.1) has been investigated in [20, 30]. In particular, in [20], the authors studied the associated Nehari manifold using the fibering maps in order to prove multiplicity result for the following problem

$$\begin{cases} (-\Delta)_p^s u = \lambda |u|^{q-1} u + \frac{2\alpha}{\alpha+\beta} |u|^{\alpha-2} u |v|^\beta & \text{in } \Omega, \\ (-\Delta)_p^s v = \mu |v|^{q-1} v + \frac{2\alpha}{\alpha+\beta} |u|^\alpha |v|^{\beta-2} v & \text{in } \Omega, \\ u = v = 0 & \text{on } \mathbb{R}^n \setminus \Omega, \end{cases}$$

where $p < \alpha + \beta < p^* := \frac{np}{n-sp}$, λ and μ are positive parameters.

Giacomoni et al. [42], considered the following system

$$\begin{cases} -\Delta_p u = f_1(x, u, v), \quad u > 0 & \text{in } \Omega, \\ -\Delta_q u = f_2(x, u, v), \quad v > 0 & \text{in } \Omega, \\ u = v = 0 & \text{on } \partial\Omega. \end{cases}$$

In [43], Shen and Zhang studied the existence of positive weak solutions for the following p -Laplacian system

$$\begin{cases} -\Delta_p u = \frac{1}{p^*} \frac{\partial F(x,u,v)}{\partial u} + \lambda a(x)|u|^{q-2}u & \text{in } \Omega, \\ -\Delta_p u = \frac{1}{p^*} \frac{\partial F(x,u,v)}{\partial v} + \mu b(x)|u|^{q-2}u & \text{in } \Omega, \\ u = v = 0 & \text{on } \partial\Omega, \end{cases}$$

where F is positively homogeneous of degree p^* . Note that for a given function $H: \Omega \times \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ and for $l > 1$, we say that H is positively homogeneous of degree l , if for all $t > 0$, we have

$$H(x, tu, tv) = t^l H(x, u, v), \quad \forall (x, u, v) \in \Omega \times \mathbb{R} \times \mathbb{R}.$$

Motivated by the above mentioned works, the main purpose of the present paper is to prove the existence of two nontrivial solutions to problem (1.1). To this aim, throughout this paper we assume that the functions F and G are positively homogeneous of degrees q and r respectively, with $(0 < r < 1 < p < q \leq p_s^*)$. Note that, in this case, the so-called Euler identities implies the existence of $\gamma_1, \gamma_2 > 0$, such that, for all $(x, u, v) \in \Omega \times \mathbb{R} \times \mathbb{R}$, we have

$$\begin{cases} F(x, u, v) \leq \gamma_1(|u|^q + |v|^q), \\ G(x, u, v) \leq \gamma_2(|u|^r + |v|^r). \end{cases} \quad (1.3)$$

This paper is organized as follows. In Section 2, we present the variational setting of the main problem and give some notations and preliminaries about Nehari manifold and fibering maps. In Section 3, we present and prove the first existence result of this paper which is devoted to the subcritical and concave case. While, the critical and concave case is presented and proved in Section 4.

2. Variational Setting and Fibering Maps Analysis

In this section, we will present and prove some important results related to the analysis of fibering maps. In order to state our results, we introduce

the following functional space

$$X = \left\{ u : \mathbb{R}^n \rightarrow \mathbb{R} \text{ is measurable, } u \in L^p(\Omega) \text{ and } \frac{u(x) - u(y)}{|x - y|^{\frac{n+ps}{p}}} \in L^p(\mathcal{D}, dx dy) \right\},$$

endowed with the norm

$$\|u\|_X = \left(\|u\|_{L^p(\Omega)}^p + \int_{\mathcal{D}} \frac{|u(x) - u(y)|^p}{|x - y|^{n+ps}} dx dy \right)^{\frac{1}{p}},$$

where $\mathcal{D} = \mathbb{R}^{2n} \setminus (\Omega^c \times \Omega^c)$ with $\Omega^c = \mathbb{R}^n \setminus \Omega$.

Let

$$X_0 = \{u \in X : u = 0 \text{ in } \mathbb{R}^n \setminus \Omega\}, \quad (2.1)$$

equipped with the norm

$$\|u\|_{X_0} = \left(\int_{\mathcal{D}} \frac{|u(x) - u(y)|^p}{|x - y|^{n+ps}} dx dy \right)^{\frac{1}{p}}. \quad (2.2)$$

These types of spaces were introduced in [33]. It is readily seen that X_0 is a uniformly convex Banach space and that the embedding $X_0 \hookrightarrow L^\sigma(\Omega)$, is continuous for all $1 \leq \sigma \leq p_s^*$ and compact for all $1 \leq \sigma < p_s^*$.

Through this paper we consider the space $E = X_0 \times X_0$, with the norm

$$\|(u, v)\|_E = \left(\|u\|_{X_0}^p + \|v\|_{X_0}^p \right)^{\frac{1}{p}}. \quad (2.3)$$

Associated to the problem (1.1), we define the functional energy $J_\lambda : E \rightarrow \mathbb{R}$ as follows:

$$J_\lambda(u, v) = \frac{1}{p} \|(u, v)\|_E^p - \int_{\Omega} F(x, u, v) dx - \lambda \int_{\Omega} G(x, u, v) dx. \quad (2.4)$$

One readily has that J_λ is of class C^1 . Moreover, for $\lambda > 0$ fixed, the critical points of J_λ are exactly the weak solutions to (1.1). For simplicity, in the rest of this paper, we use the following notations:

$$\begin{aligned} A(u, v) &= \|(u, v)\|_E^p, \\ B(u, v) &= \int_{\Omega} F(x, u, v) dx, \end{aligned}$$

and

$$C(u, v) = \int_{\Omega} G(x, u, v) dx,$$

Then, we can write J_{λ} as follows

$$J_{\lambda}(u, v) = \frac{1}{p}A(u, v) - B(u, v) - \lambda C(u, v).$$

A simple calculation shows that $J_{\lambda} \in C^1(E, \mathbb{R})$, moreover

$$\langle J'_{\lambda}(u, v), (u, v) \rangle_E = A(u, v) - qB - \lambda rC(u, v).$$

Since the functional energy J_{λ} is not bounded from below on E , it is natural to work in a suitable subset of E . A good candidate for an appropriate subset of E , is the so-called Nehari manifold, which is defined by

$$\mathcal{N}_{\lambda} = \{(u, v) \in E \setminus \{(0, 0)\} : \langle J'_{\lambda}(u, v), (u, v) \rangle_E = 0\}.$$

It is not difficult to see that all nontrivial critical points of J_{λ} lie on \mathcal{N}_{λ} . Moreover, $(u, v) \in \mathcal{N}_{\lambda}$ if and only if

$$A(u, v) - qB(u, v) - \lambda rC(u, v) = 0. \quad (2.5)$$

It is useful to understand that the Nehari manifold \mathcal{N}_{λ} , is closely associated with the behavior of the fibering maps $\varphi_{u,v} : (0, \infty) \rightarrow \mathbb{R}$, defined as

$$\varphi_{u,v}(t) = J_{\lambda}(tu, tv) := \frac{1}{p}A(u, v)t^p - B(u, v)t^q - \lambda C(u, v)t^r. \quad (2.6)$$

Such maps are introduced by Drabek et al. in [26] and are also discussed in [14, 15].

Lemma 2.1. *Let $t > 0$ and $(u, v) \in E \setminus \{(0, 0)\}$. Then, $(tu, tv) \in \mathcal{N}_{\lambda}$ if and only if $\varphi'_{u,v}(t) = 0$. In particular, $(u, v) \in \mathcal{N}_{\lambda}$ if and only if $\varphi'_{u,v}(1) = 0$.*

Proof. The result is an immediate consequence of the fact that for all $t > 0$ and all $(u, v) \in E \setminus \{(0, 0)\}$, we have

$$\varphi'_{u,v}(t) = \frac{1}{t} \langle J'_{\lambda}(tu, tv), (tu, tv) \rangle_E. \quad \square$$

Lemma 2.2. *Assume that $(u_0, v_0) \in \mathcal{N}_\lambda$, is a local minimizer for J_λ on \mathcal{N}_λ . Then (u_0, v_0) is a critical point of J_λ .*

Proof. If (u_0, v_0) is a local minimizer for J_λ on \mathcal{N}_λ . Then, (u_0, v_0) is a solution to the following minimization problem

$$\begin{cases} \min_{(u,v) \in \mathcal{N}_\lambda} J_\lambda(u, v) = J_\lambda(u_0, v_0) \\ \beta(u_0, v_0) = 0, \end{cases}$$

where β is defined by

$$\beta(u, v) = A(u, v) - qB(u, v) - \lambda rC(u, v).$$

Hence, the Lagrangian multipliers theorem implies the existence of a real number δ , such that

$$J'(u_0, v_0) = \delta \beta'(u_0, v_0). \quad (2.7)$$

Thus

$$\langle J'(u_0, v_0), (u_0, v_0) \rangle_E = \delta \langle \beta'(u_0, v_0), (u_0, v_0) \rangle_E. \quad (2.8)$$

Since $(u_0, v_0) \in \mathcal{N}_\lambda$, then we have

$$\langle J'(u_0, v_0), (u_0, v_0) \rangle_E = 0. \quad (2.9)$$

On the other hand, a simple calculation shows that

$$\langle \beta'(u_0, v_0), (u_0, v_0) \rangle_E = \varphi''_{u_0, v_0}(1).$$

So, by combining Equations (2.8) and (2.9) with the fact that $(u_0, v_0) \notin \mathcal{N}_\lambda^0$, we obtain $\delta = 0$. Finally, replacing δ by zero in (2.7), we get $J'_\lambda(u_0, v_0) = 0$. \square

In order to prove multiplicity of solutions, we split \mathcal{N}_λ into the following three subsets

$$\mathcal{N}_\lambda^+ = \{(u, v) \in \mathcal{N}_\lambda : \varphi''_{u,v}(1) > 0\} = \{(u, v) \in E : \varphi'_{u,v}(1) = 0, \text{ and } \varphi''_{u,v}(1) > 0\},$$

$$\mathcal{N}_\lambda^- = \{(u, v) \in \mathcal{N}_\lambda : \varphi''_{u,v}(1) < 0\} = \{(u, v) \in E : \varphi'_{u,v}(1) = 0, \text{ and } \varphi''_{u,v}(1) < 0\},$$

$$\mathcal{N}_\lambda^0 = \{(u, v) \in \mathcal{N}_\lambda : \varphi''_{u,v}(1) = 0\} = \{(u, v) \in E : \varphi'_{u,v}(1) = 0, \text{ and } \varphi''_{u,v}(1) = 0\}.$$

Note that

$$\varphi'_{u,v}(t) = t^{p-1}A(u,v) - qt^{q-1}B - \lambda rt^{r-1}C(u,v), \quad (2.10)$$

and

$$\varphi''_{u,v}(t) = (p-1)t^{p-2}A(u,v) - q(q-1)t^{q-2}B(u,v) - \lambda r(r-1)t^{r-2}C(u,v). \quad (2.11)$$

So, from (2.5), we get

$$\begin{aligned} \varphi''_{u,v}(1) &= (p-1)A(u,v) - q(q-1)B(u,v) - \lambda r(r-1)C(u,v) \\ &= q(p-q)B(u,v) + \lambda r(p-r)C(u,v) \\ &= (p-q)A(u,v) + \lambda r(q-r)C(u,v) \\ &= (p-r)A(u,v) - q(q-r)B(u,v). \end{aligned} \quad (2.12)$$

Put

$$\lambda_* = \frac{1}{\gamma_2} \frac{q-p}{r(q-r)} \left(\frac{p-r}{q(q-r)\gamma_1} \right)^{\frac{p-r}{q-p}} \left(S_p |\Omega|^{\frac{p-p_s^*}{p_s^*}} \right)^{\frac{q-r}{q-p}}. \quad (2.13)$$

Then we have the following important result.

Lemma 2.3. *If $\lambda \in (0, \lambda_*)$. Then, for all $(u, v) \in E \setminus \{(0, 0)\}$, there exist two positive numbers t_1 and t_2 , such that*

$$(t_1 u, t_1 v) \in \mathcal{N}_\lambda^+, \text{ and } (t_2 u, t_2 v) \in \mathcal{N}_\lambda^-.$$

Proof. For $(u, v) \in E$, we define the function $\psi_{u,v} : [0, \infty) \rightarrow \mathbb{R}$, as follows

$$\psi_{u,v}(t) = t^{p-r}A(u,v) - qt^{q-r}B(u,v). \quad (2.14)$$

By simple calculation, we get

$$\varphi'_{u,v}(t) = t^{r-1}(\psi_{u,v}(t) - \lambda rC(u,v)), \quad (2.15)$$

and

$$\varphi''_{u,v}(t) = t^r \psi'_{u,v}(t). \quad (2.16)$$

Hence, $(tu, tv) \in \mathcal{N}_\lambda^+$ if and only if $\psi_{u,v}(t) = \lambda rC(u,v)$ and $\psi'_{u,v}(t) > 0$. Moreover, $(tu, tv) \in \mathcal{N}_\lambda^-$ if and only if $\psi_{u,v}(t) = \lambda rC(u,v)$ and $\psi'_{u,v}(t) < 0$.

It is clear that $\psi'_{u,v}(t) = 0$ if and only if $t = 0$ or

$$t = T := \left(\frac{(p-r) A(u,v)}{q(q-r) B(u,v)} \right)^{\frac{1}{q-p}}.$$

Moreover, the table of variations of the function $\psi_{u,v}$, is as follows

t	0	T	∞
$\psi'_{u,v}$	+	0	-
$\psi_{u,v}$	0	$\psi_{u,v}(T) > 0$	$-\infty$

On the other hand, from (1.3), (4.1) and Hölder’s inequality, we have

$$\begin{aligned} B(u,v) &\leq \gamma_1 (\|u\|_{L^q}^q + \|v\|_{L^q}^q) \\ &\leq \gamma_1 |\Omega|^{\frac{p_s^*-q}{p_s^*}} \left(\|u\|_{L^{p_s^*}}^q + \|v\|_{L^{p_s^*}}^q \right) \\ &\leq \gamma_1 |\Omega|^{\frac{p_s^*-q}{p_s^*}} S_p^{-\frac{q}{p}} \left(\|u\|_{X_0}^q + \|v\|_{X_0}^q \right) \\ &\leq \gamma_1 |\Omega|^{\frac{p_s^*-q}{p_s^*}} S_p^{-\frac{q}{p}} \left(\|u\|_{X_0}^p + \|v\|_{X_0}^p \right)^{\frac{q}{p}} \\ &\leq \gamma_1 S_p^{-\frac{q}{p}} |\Omega|^{\frac{p_s^*-q}{p_s^*}} A(u,v)^{\frac{q}{p}}. \end{aligned} \tag{2.17}$$

Likewise

$$C(u,v) \leq \gamma_2 S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^*-r}{p_s^*}} A(u,v)^{\frac{r}{p}}. \tag{2.18}$$

Therefore

$$\begin{aligned} &\psi_{u,v}(T) - \lambda r C(u,v) \\ &= \left(\frac{p-r}{q(q-r)} \right)^{\frac{p-r}{q-p}} \left(\frac{q-p}{q-r} \right) A(u,v)^{\frac{q-r}{q-p}} B(u,v)^{-\frac{p-r}{q-p}} - \lambda r C(u,v) \\ &\geq \left(r \gamma_2 S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^*-r}{p_s^*}} \right) (\lambda_* - \lambda) A(u,v)^{\frac{r}{p}}. \end{aligned}$$

So, for $\lambda \in (0, \lambda_*)$, we get

$$\psi_{u,v}(T) > \lambda r C(u,v) > 0.$$

Hence, from the table of variations of $\psi_{u,v}$, there exist $t_1 < T < t_2$, such that:

$$\psi_{u,v}(t_1) = \psi_{u,v}(t_2) = \lambda r C(u, v), \psi'_{u,v}(t_1) > 0 \text{ and } \psi'_{u,v}(t_2) < 0. \quad (2.19)$$

Finally, from (2.15) and (2.16), we see that $(t_1 u, t_1 v) \in \mathcal{N}_\lambda^+$, and $(t_2 u, t_2 v) \in \mathcal{N}_\lambda^-$ \square

Lemma 2.4. *For all $\lambda \in (0, \lambda_*)$, we have $\mathcal{N}_\lambda^0 = \emptyset$.*

Proof. We proceed by contradiction. Let $(u_0, v_0) \in \mathcal{N}_\lambda^0$. Then, from (2.12), we have

$$(p-r)A(u_0, v_0) - q(q-r)B(u_0, v_0) = 0.$$

So,

$$qB(u_0, v_0) = \frac{p-r}{q-r}A(u_0, v_0).$$

Consequently, we get

$$\begin{aligned} 0 &= A(u_0, v_0) - qB(u_0, v_0) - \lambda r C(u_0, v_0) \\ &= A(u_0, v_0) - \frac{p-r}{q-r}A(u_0, v_0) - \lambda r C(u_0, v_0) \\ &= \frac{q-p}{q-r}A(u_0, v_0) - \lambda r C(u_0, v_0), \end{aligned}$$

which implies that

$$C(u_0, v_0) = \frac{q-p}{\lambda r(q-r)}A(u_0, v_0). \quad (2.20)$$

Now, as in the proof of Lemma 2.3, we can prove that ψ_{u_0, v_0} achieves its maximum at $T_0 = T(u_0, v_0)$, moreover, $\psi_{u_0, v_0}(T_0) > \lambda r C(u_0, v_0) > 0$. On the other hand, from (2.20), we obtain

$$\begin{aligned} &\psi_{u_0, v_0}(T_0) - \lambda r C(u_0, v_0) \\ &= \left(\frac{q-p}{q-r}\right) \left(\frac{p-r}{q(q-r)}\right)^{\frac{p-r}{q-p}} \left(\frac{A(u_0, v_0)^{q-r}}{B(u_0, v_0)^{p-r}}\right)^{\frac{1}{q-p}} - \lambda r C(u_0, v_0) \\ &= \left(\frac{p-r}{q(q-r)}\right)^{\frac{p-r}{q-p}} \left(\frac{q-p}{q-r}\right) \left(\frac{p-r}{q(q-r)}\right)^{\frac{r-p}{q-p}} A(u, v)_0 - \lambda r C(u_0, v_0) \end{aligned}$$

$$= \frac{q - p}{\lambda r(q - r)} A(u_0, v_0) - \lambda r C(u_0, v_0) = 0,$$

which is a contradiction. So we conclude that $\mathcal{N}_\lambda^0 = \emptyset$. □

Lemma 2.5. *For all $\lambda \in (0, \lambda_*)$, the functional J_λ is coercive and bounded from below on \mathcal{N}_λ .*

Proof. Let $(u, v) \in \mathcal{N}_\lambda$. Then, from Equation (2.5), we get

$$B(u, v) = \frac{1}{q}(A(u, v) - \lambda r C(u, v)).$$

Therefore, using (2.18), we get

$$\begin{aligned} J_\lambda(u, v) &= \left(\frac{1}{p} - \frac{1}{q}\right) A(u, v) - \lambda \frac{q-r}{q} C(u, v) \\ &\geq \left(\frac{1}{p} - \frac{1}{q}\right) A(u, v) - \gamma_2 S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^* - r}{p_s^*}} A(u, v)^{\frac{r}{p}} \\ &= \left(\frac{1}{p} - \frac{1}{q}\right) \|(u, v)\|_E^p - \gamma_2 S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^* - r}{p_s^*}} \|(u, v)\|_E^r. \end{aligned}$$

Since, $p > r$, then, J_λ is coercive and bounded from below on \mathcal{N}_λ . □

Note that, from Lemma 2.4, for any $\lambda \in (0, \lambda_*)$, we have

$$\mathcal{N}_\lambda = \mathcal{N}_\lambda^+ \cup \mathcal{N}_\lambda^-.$$

Moreover, from Lemma 2.5, the following expressions are well defined

$$\alpha_\lambda^- = \inf_{(u,v) \in \mathcal{N}_\lambda^-} J_\lambda(u, v) \text{ and } \alpha_\lambda^+ = \inf_{(u,v) \in \mathcal{N}_\lambda^+} J_\lambda(u, v).$$

3. First Existence Result

In this section, we will state and prove our first existence result which is devoted to the sub-critical case ($q < p_s^*$).

Theorem 3.1. *Let $s \in (0, 1), n > ps$. Assume that $0 < r < 1 < p < q < p_s^*$, then there exists $\lambda_* > 0$, such that for all $\lambda \in (0, \lambda_*)$, problem (1.1) has at least two nontrivial solutions.*

In order to prove Theorem 3.1, we need to prove the following propositions.

Proposition 3.1. *If $\lambda \in (0, \lambda_*)$ and $0 < r < 1 < q < p_s^*$. Then the functional J_λ has a minimizer (u_λ, v_λ) in \mathcal{N}_λ^+ satisfying*

$$J_\lambda(u_\lambda, v_\lambda) = \alpha_\lambda^+ < 0.$$

Proof. Assume that $\lambda \in (0, \lambda_*)$ and $0 < r < 1 < q < p_s^*$.

Since J_λ is bounded from below on \mathcal{N}_λ^+ . Then there exists a sequence $\{(u_k, v_k)\} \subset \mathcal{N}_\lambda^+$ such that

$$\lim_{k \rightarrow \infty} J_\lambda(u_k, v_k) = \inf_{(u,v) \in \mathcal{N}_\lambda^+} J_\lambda(u, v).$$

From Lemma 2.5, the sequence $\{(u_k, v_k)\}$ is bounded in E . So, up to a subsequence, there exists $(u_\lambda, v_\lambda) \in E$ such that,

$$(u_k, v_k) \rightharpoonup (u_\lambda, v_\lambda), \text{ weakly in } E \text{ as } k \rightarrow \infty.$$

Moreover, by [[33], Lemma 8], up to a subsequence, still denoted by (u_k, v_k) , we have

$$\begin{cases} (u_k, v_k) \rightarrow (u_\lambda, v_\lambda) \text{ strongly in } L^\sigma(\mathbb{R}^n), \forall 1 \leq \sigma < p_s^*, \\ (u_k, v_k) \rightarrow (u_\lambda, v_\lambda) \text{ a.e. in } \mathbb{R}^n. \end{cases}$$

Moreover, from [[13], Theorem IV-9], there exist $1 \leq \sigma < p_s^*$ and $l_1, l_2 \in L^\sigma(\mathbb{R}^n)$, such that

$$|u_k(x)| \leq l_1(x) \text{ and } |v_k(x)| \leq l_2(x) \text{ in } \mathbb{R}^n.$$

Now, since we have

$$\begin{cases} B(u_k, v_k) < \gamma_1 \|(u_k, v_k)\|_{L^q \times L^q}^q, \\ C(u_k, v_k) < \gamma_2 \|(u_k, v_k)\|_{L^r \times L^r}^r. \end{cases}$$

Then, from the dominated convergence theorem, we get

$$\begin{cases} B(u_k, v_k) \rightarrow B(u_\lambda, v_\lambda), \\ C(u_k, v_k) \rightarrow C(u_\lambda, v_\lambda), \end{cases} \text{ as } k \rightarrow \infty. \quad (3.1)$$

On the other hand, from Lemma 2.3, there exists $t_1 > 0$, such that $(t_1 u_\lambda, t_1 v_\lambda) \in \mathcal{N}_\lambda^+$ and $J_\lambda(t_1 u_\lambda, t_1 v_\lambda) < 0$. Hence, we obtain

$$\alpha_\lambda^+ := \inf_{(u,v) \in \mathcal{N}_\lambda^+} J_\lambda(u, v) < 0.$$

Next, we will show that $(u_k, v_k) \rightarrow (u_\lambda, v_\lambda)$ strongly in E . If not, then we have

$$\|(u_\lambda, v_\lambda)\|_{X_0} < \liminf_{k \rightarrow \infty} \|(u_k, v_k)\|_E.$$

Thus, we get

$$\begin{aligned} \lim_{k \rightarrow \infty} \varphi'_{u_k, v_k}(t_1) &= \lim_{k \rightarrow \infty} [t_1^{p-1} A(u_k, v_k) - qt_1^q \mathcal{B}_k - \lambda r t_1^r C(u_k, v_k)] \\ &> t_1^{p-1} A(u_\lambda, v_\lambda) - qt_1^q B(u_\lambda, v_\lambda) - \lambda r t_1^r C(u_\lambda, v_\lambda) \\ &= \varphi'_{u_\lambda, v_\lambda}(t_1) = 0. \end{aligned}$$

That is, $\varphi'_{u_k, v_k}(t_1) > 0$ for k large enough.

Since $(u_k, v_k) \in \mathcal{N}_\lambda^+$, then $\varphi'_{u_k, v_k}(1) = 0$. Moreover, we can see that $\varphi'_{u_k, v_k}(t) < 0$, for $t \in (0, t_1)$. Therefore, we must have $t_1 > 1$. On the other hand, $\varphi_{u_\lambda, v_\lambda}(t)$ is decreasing on $(0, t_1)$, then we get

$$\begin{aligned} J_\lambda(t_1 u_\lambda, t_1 v_\lambda) := \varphi_{u_\lambda, v_\lambda}(t) &\leq \varphi_{u_\lambda, v_\lambda}(1) := J_\lambda(u_\lambda, v_\lambda) \\ &< \lim_{k \rightarrow \infty} J_\lambda(u_k, v_k) \\ &= \inf_{(u,v) \in \mathcal{N}_\lambda^+} J_\lambda(u, v), \end{aligned}$$

which is a contradiction. Hence, $(u_k, v_k) \rightarrow (u_\lambda, v_\lambda)$ strongly in E . This implies that

$$J_\lambda(u_k, v_k) \rightarrow J_\lambda(u_\lambda, v_\lambda) = \inf_{(u,v) \in \mathcal{N}_\lambda^+} J_\lambda(u, v).$$

We deduce that (u_λ, v_λ) is a minimizer of J_λ on \mathcal{N}_λ^+ . □

Proposition 3.2. *Assume that $0 < r < 1 < q < p_s^*$. If $\lambda \in (0, \lambda_*)$, then J_λ has a minimizer $(\tilde{u}_\lambda, \tilde{v}_\lambda)$ in \mathcal{N}_λ^- , satisfying*

$$J_\lambda(\tilde{u}_\lambda, \tilde{v}_\lambda) = \alpha_\lambda^- > 0.$$

Proof. Since J_λ is bounded from below on \mathcal{N}_λ^- , then, there exists a sequence $\{(u_k, v_k)\} \subset \mathcal{N}_\lambda^-$, such that

$$\lim_{k \rightarrow \infty} J_\lambda(u_k, v_k) = \inf_{(u,v) \in \mathcal{N}_\lambda^-} J_\lambda(u, v).$$

By the same arguments given in the proof of Proposition 3.1, there exists $(\tilde{u}_\lambda, \tilde{v}_\lambda) \in E$ such that, up to a subsequence, we have

$$\begin{cases} A(u_k, v_k) \rightarrow A(\tilde{u}_\lambda, \tilde{v}_\lambda), \\ B(u_k, v_k) \rightarrow B(\tilde{u}_\lambda, \tilde{v}_\lambda), \\ C(u_k, v_k) \rightarrow C(\tilde{u}_\lambda, \tilde{v}_\lambda). \end{cases}$$

Moreover, from the analysis of the fibering map $\varphi_{u,v}(t)$, we know that there exists $t_2 > T$ such that $(t_2u, t_2v) \in \mathcal{N}_\lambda^-$.

Next, we show that $(u_k, v_k) \rightarrow (\tilde{u}_\lambda, \tilde{v}_\lambda)$, strongly in E . To this aim, we proceed by contradiction and we assume that

$$\|(\tilde{u}_\lambda, \tilde{v}_\lambda)\|_E < \liminf_{k \rightarrow \infty} \|(u_k, v_k)\|_E.$$

For $\{(u_k, v_k)\} \subset \mathcal{N}_\lambda^-$, we have

$$J_\lambda(u_k, v_k) > J_\lambda(tu_k, tv_k) \quad \forall t > T.$$

So we get

$$\begin{aligned} J_\lambda(t_2\tilde{u}_\lambda, t_2\tilde{v}_\lambda) &= \frac{t_2^p}{p} A(u, v)_2 - t_2^q B(u, v)_2 - \lambda t_2^r C(u, v)_2 \\ &< \lim_{k \rightarrow \infty} \left(\frac{t_2^p}{p} A(u_k, v_k) - t_2^q B(u_k, v_k) - \lambda t_2^r C(u_k, v_k) \right) \\ &= \lim_{k \rightarrow \infty} J_\lambda(t_2u_k, t_2v_k) \leq J_\lambda(u_k, v_k) = \inf_{(u,v) \in \mathcal{N}_\lambda^-} J_\lambda(u, v), \end{aligned}$$

which is a contradiction. Hence, $(u_k, v_k) \rightarrow (\tilde{u}_\lambda, \tilde{v}_\lambda)$ strongly in E . Therefore, we deduce that

$$J_\lambda(u_k, v_k) \rightarrow J_\lambda(\tilde{u}_\lambda, \tilde{v}_\lambda) = \inf_{(u,v) \in \mathcal{N}_\lambda^-} J_\lambda(u, v), k \rightarrow \infty.$$

Hence, $(\tilde{u}_\lambda, \tilde{v}_\lambda)$ is a minimizer for J_λ in \mathcal{N}_λ^- . □

Proof of Theorem 3.1. From Propositions 3.1, there exists a minimizer $(u_\lambda, v_\lambda) \in \mathcal{N}_\lambda^+$, such that

$$J_\lambda(u_\lambda, v_\lambda) = \alpha_\lambda^+ < 0. \tag{3.2}$$

On the other hand, from Proposition 3.2, there exists a minimizer $(\tilde{u}_\lambda, \tilde{v}_\lambda) \in \mathcal{N}_\lambda^-$ such that

$$J_\lambda(\tilde{u}_\lambda, \tilde{v}_\lambda) = \alpha_\lambda^- > 0. \tag{3.3}$$

Now, from Lemma 2.2, we get that (u_λ, v_λ) and $(\tilde{u}_\lambda, \tilde{v}_\lambda)$ are solutions to problem (1.1). Moreover, from (3.2) and (3.3), we see that these solutions are nontrivial. Finally, the fact that $\mathcal{N}_\lambda^+ \cap \mathcal{N}_\lambda^- = \emptyset$, implies that (u_λ, v_λ) and $(\tilde{u}_\lambda, \tilde{v}_\lambda)$ are distinct. This finishes the proof of Theorem 3.1.

4. Second Existence Result

In this section, we will state and prove the second existence result of this paper which is devoted to the critical case $(q = p_s^*)$. The main difficulty is that the Sobolev embedding for the critical exponent is not compact. Since the embedding $X_0 \hookrightarrow L^{p_s^*}(\mathbb{R}^n)$ is not compact, the energy functional does not satisfy the Palais-Smale condition globally. But it is true for the energy functional in a suitable range related to the best fractional critical Sobolev constant, that we can denote by the following expression:

$$S_p = \inf_{u \in X_0 \setminus \{0\}} \frac{\|u\|_{X_0}^p}{\|u\|_{L^{p_s^*}}^p}. \tag{4.1}$$

Our second main result of this paper is the following theorem.

Theorem 4.1. *Assume that $s \in (0, 1)$, $n > ps$ and $0 < r < 1 < p < q = p_s^*$. If there exist $t_0 > 0$ and $(u_0, v_0) \in E \setminus \{(0, 0)\}$ satisfying*

$$\frac{1}{p}A(u_0, v_0)t_0^p - t_0^{p_s^*}B(u_0, v_0) = \frac{s}{n}(p_s^*\gamma_1)^{\frac{-n}{sp_s^*}}S_p^{\frac{n}{sp_s^*}}. \tag{4.2}$$

Then there exists $\lambda^ > 0$ such that, for all $\lambda \in (0, \lambda^*)$, problem (1.1) has at least two nontrivial solutions.*

Remark 4.1. The condition (4.2) can be guaranteed by Lemma 2.11.

In this section, we will put

$$M = \left(\frac{p-r}{p}\right) \left(\frac{nr(p_s^* - r)}{p_s^* p S_p}\right)^{\frac{r}{p-r}} \left(\gamma_2 |\Omega|^{\frac{p_s^* - r}{p_s^*}}\right)^{\frac{p}{p-r}}, \tag{4.3}$$

where S_p is defined in Equation (4.1).

Proposition 4.3. *Assume that $0 < r < 1 < q = p_s^*$. If $\lambda \in (0, \lambda_*)$, then every Palais-Smale subsequence at level c , with*

$$c < \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}} - M \lambda^{\frac{p}{p-r}}, \tag{4.4}$$

has a convergent subsequence.

Proof. If $\{(u_k, v_k)\}$ is a Palais-Smale sequence at level c , with c satisfying (4.4), then, Lemma 2.5 implies that $\{(u_k, v_k)\}$ is bounded in E . So, up to a sequence, there exists $(u_*, v_*) \in E$ such that

$$(u_k, v_k) \rightharpoonup (u_*, v_*), \text{ weakly in } E.$$

Moreover, from [[33], Lemma 8] and the Sobolev embedding, we get

$$\begin{cases} (u_k, v_k) \rightharpoonup (u_*, v_*) \text{ weakly in } L^{p_s^*}(\mathbb{R}^n) \times L^{p_s^*}(\mathbb{R}^n), \\ (u_k, v_k) \rightarrow (u_*, v_*) \text{ strongly in } L^r(\mathbb{R}^n) \times L^r(\mathbb{R}^n), \forall 1 \leq r < p_s^*, \\ (u_k, v_k) \rightarrow (u_*, v_*) \text{ a.e. in } \mathbb{R}^n \times \mathbb{R}^n. \end{cases}$$

Moreover, from [[13], Theorem IV-9], there exist $\tilde{l}_1, \tilde{l}_2 \in L^r(\mathbb{R}^n)$ such that, for all $1 \leq r < p_s^*$, we have

$$|u_k(x)| \leq \tilde{l}_1(x) \text{ and } |v_k(x)| \leq \tilde{l}_2(x) \text{ in } \mathbb{R}^n,$$

Therefore, by dominated convergence theorem, we have that

$$C(u_k, v_k) \rightarrow C(u_*, v_*), \text{ as } k \rightarrow \infty. \tag{4.5}$$

On the other hand, from Brezis-Lieb Lemma [[40], Lemma 1.32], we obtain

$$\begin{cases} A(u_k, v_k) = A(u, v)(u_k - u_*, v_k - v_*) + A(u, v)_* + o(1), \\ B(u_k, v_k) = B(u, v)(u_k - u_*, v_k - v_*) + B(u, v)_* + o(1). \end{cases} \tag{4.6}$$

By combining (4.5) with (4.6), we get

$$\begin{aligned}
 & \langle J'_\lambda(u_k, v_k), (u_k, v_k) \rangle_E \\
 &= A(u_k, v_k) - p_s^* B(u_k, v_k) - \lambda r C(u_k, v_k) \\
 &= A(u, v)(u_k - u_*, v_k - v_*) + A(u, v)_* - p_s^*(B(u, v)(u_k - u_*, v_k - v_*) \\
 &\quad + B(u, v)_*) - \lambda r C(u_k, v_k) + o(1) \\
 &= \langle J'_\lambda(u_*, v_*), (u_*, v_*) \rangle_E + A(u, v)(u_k - u_*, v_k - v_*) \\
 &\quad - p_s^* B(u, v)(u_k - u_*, v_k - v_*).
 \end{aligned}$$

Since $\langle J'_\lambda(u_*, v_*), (u_*, v_*) \rangle_E = 0$ and $\langle J'_\lambda(u_k, v_k), (u_k, v_k) \rangle_E \rightarrow 0$. Then, we have

$$A(u, v)(u_k - u_*, v_k - v_*) \rightarrow b \text{ and } p_s^* B(u, v)(u_k - u_*, v_k - v_*) \rightarrow b. \quad (4.7)$$

If $b = 0$, then the proof is completed. Assume that $b > 0$. From (2.17), we get

$$p_s^* B(u, v)(u_k - u_*, v_k - v_*) \leq p_s^* \gamma_1 S_p^{-\frac{p_s^*}{p}} (A(u, v)(u_k - u_*, v_k - v_*))^{\frac{p_s^*}{p}}$$

which yields to

$$b \geq (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}}.$$

Therefore, one has

$$\begin{aligned}
 c &= \lim_{k \rightarrow \infty} \left(\frac{1}{p} A(u_k, v_k) - B(u, v)_k - \lambda C(u_k, v_k) \right) \\
 &= \lim_{k \rightarrow \infty} \left(\frac{1}{p} A(u, v)(u_k - u_*, v_k - v_*) - B(u, v)(u_k - u_*, v_k - v_*) - \lambda C(u_k, v_k) \right) \\
 &\quad - \frac{1}{p} A(u_*, v_*) - B(u_*, v_*) + o(1) \\
 &= J_\lambda(u_*, v_*) + b \left(\frac{1}{p} - \frac{1}{p_s^*} \right) \\
 &\geq J_\lambda(u_*, v_*) + \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}}.
 \end{aligned}$$

Since $c < \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}}$, then, we obtain $J_\lambda(u_*, v_*) < 0$. In particular, u_*

and v_* are nontrivial. Moreover,

$$B(u_*, v_*) > \frac{1}{p}A(u_*, v_*) - \lambda C(u_*, v_*). \tag{4.8}$$

Now, by combining (2.18) with (4.8), we obtain

$$\begin{aligned} c &= \lim_{k \rightarrow \infty} J_\lambda(u_k, v_k) \\ &= \lim_{k \rightarrow \infty} \left[J_\lambda(u_k, v_k) - \frac{1}{p} \langle J'_\lambda(u_k, v_k), (u_k, v_k) \rangle_E \right] \\ &= \lim_{k \rightarrow \infty} \left[\left(\frac{p_s^*}{p} - 1 \right) (B(u_*, v_*)(u_k - u_*, v_k - v_*)) + B(u_*, v_*) - \lambda \left(\frac{p-r}{p} \right) C(u_k, v_k) \right] \\ &= \lim_{k \rightarrow \infty} \left[\frac{sp_s^*}{n} (B(u_*, v_*)(u_k - u_*, v_k - v_*) + B(u_*, v_*)) - \lambda \left(\frac{p-r}{p} \right) C(u_*, v_*) \right] \\ &\geq \frac{s}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}} + \frac{sp_s^*}{n} B(u_*, v_*) - \lambda \left(\frac{p-r}{p} \right) C(u_*, v_*) \\ &\geq \frac{s}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}} - \lambda \gamma_2 S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^*-r}{p_s^*}} \left(\frac{p_s^*-r}{p} \right) (A(u_*, v_*))^{\frac{r}{p}} + \frac{sp_s^*}{np} A(u_*, v_*) \\ &:= \frac{s}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}} - h(A(u, v)^{\frac{1}{p}}), \end{aligned} \tag{4.9}$$

where

$$h(\eta) = \lambda \gamma_2 S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^*-r}{p_s^*}} \left(\frac{p_s^*-r}{p} \right) \eta^r - \frac{sp_s^*}{np} \eta^p.$$

We note that the function h attains its maximum at

$$\eta_0 = \left(\frac{\lambda nr (p_s^* - r) \gamma_2}{sp p_s^*} S_p^{-\frac{r}{p}} |\Omega|^{\frac{p_s^*-r}{p_s^*}} \right)^{\frac{1}{p-r}}.$$

Moreover, we have

$$h(\eta_0) = \sup_{\eta > 0} h(\eta) = M \lambda^{\frac{p}{p-r}}, \tag{4.10}$$

where M is defined in (4.3).

Now, if we combine (4.9) with (4.10), we obtain

$$c \geq \frac{s}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{p_s^*}} - M \lambda^{\frac{p}{p-r}},$$

which is in contradiction with (4.4). Hence, $b = 0$. Therefore, we conclude that $(u_k, v_k) \rightarrow (u_*, v_*)$ strongly in E . This completes the proof. \square

Proposition 4.4. *There exist $\lambda^* > 0$, $t_0 > 0$, and $(u_0, v_0) \in E$, such that for all $\lambda \in (0, \lambda^*)$, we have*

$$J_\lambda(t_0 u_0, t_0 v_0) \leq \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - M \lambda^{\frac{p}{p-r}}. \tag{4.11}$$

In particular,

$$\alpha_\lambda^- < \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - M \lambda^{\frac{p}{p-r}}. \tag{4.12}$$

Proof. Since $\lambda \in (0, \lambda_*)$, from Equations (2.13) and (4.3) and using the fact that $0 < \frac{1}{r} \left(\frac{p-r}{p_s^*-r} \right)^{\frac{n}{sp}} < 1$, we get

$$\begin{aligned} \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - M \lambda_*^{\frac{p}{p-r}} &> \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - M \lambda^{\frac{p}{p-r}} \\ &> \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} \left(1 - \frac{1}{r} \left(\frac{p-r}{p_s^*-r} \right)^{\frac{n}{sp}} \right) > 0. \end{aligned}$$

The above inequality implies that

$$\lambda < \lambda_{**} := \left(\frac{S}{nM} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} \right)^{\frac{p-r}{p}}.$$

From condition (4.2), there exist $t_0 > 0$ and $(u_0, v_0) \in E \setminus \{(0, 0)\}$ such that

$$\begin{aligned} J_\lambda(t_0 u_0, t_0 v_0) &= \frac{1}{p} A(u_0, v_0) t_0^p - t_0^q B(u_0, v_0) - \lambda t_0^r C(u_0, v_0) \\ &= \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - \lambda t_0^r C(u_0, v_0). \end{aligned} \tag{4.13}$$

Let

$$\lambda_{***} = \left(\frac{t_0^{r+1} C(u_0, v_0)}{M} \right)^{\frac{ps^*-r}{r}}, \forall \lambda \in (0, \lambda_{***})$$

we denote

$$-\lambda t_0^r C(u_0, v_0) < -M \lambda^{\frac{p}{p-r}}.$$

Thus, we obtain that (4.11) hold. Finally, we set $\lambda^* = \min\{\lambda_*, \lambda_{**}, \lambda_{***}\}$, by the analysis of fibering map $\varphi_{u,v}(t) = J_\lambda(tu, tv)$, we get

$$\alpha_\lambda^- < \frac{S}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - M \lambda^{\frac{p}{p-r}},$$

for $\lambda \in (0, \lambda_2)$. This completes the proof. □

Proof of Theorem 2. Let $\{(u_k^+, v_k^+)\}$ be a minimizer for J_λ in \mathcal{N}_λ^+ , and $\{(u_k^-, v_k^-)\}$ be a minimizer for J_λ in \mathcal{N}_λ^- . That is

$$J_\lambda(u_k^+, v_k^+) \rightarrow \alpha_\lambda^+, J'_\lambda(u_k^+, v_k^+) \rightarrow 0, \quad (4.14)$$

and

$$J_\lambda(u_k^-, v_k^-) \rightarrow \alpha_\lambda^-, J'_\lambda(u_k^-, v_k^-) \rightarrow 0. \quad (4.15)$$

From (4.12), we see that

$$\alpha_\lambda^+ < 0 < \alpha_\lambda^+ < \frac{s}{n} (p_s^* \gamma_1)^{\frac{-n}{sp_s^*}} S_p^{\frac{n}{ps}} - M \lambda^{\frac{p}{p-r}}.$$

So, from Proposition 4.3, up to a subsequence, there exist $(u_\lambda, v_\lambda) \in \mathcal{N}_\lambda^+$ and $(\tilde{u}_\lambda, \tilde{v}_\lambda) \in \mathcal{N}_\lambda^-$, such that

$$(u_k^+, v_k^+) \rightarrow (u_\lambda, v_\lambda), \quad \text{and} \quad (u_k^-, v_k^-) \rightarrow (\tilde{u}_\lambda, \tilde{v}_\lambda).$$

Therefore, from Lemma 2.2, (u_λ, v_λ) and $(\tilde{u}_\lambda, \tilde{v}_\lambda)$ are solution to problem (1.1). Moreover, from equations (3.2) and (3.3), (u_λ, v_λ) and $(\tilde{u}_\lambda, \tilde{v}_\lambda)$ are nontrivial. Finally, the fact that $\mathcal{N}_\lambda^+ \cap \mathcal{N}_\lambda^- \neq \emptyset$, implies that these two solutions are distinct. This finishes the proof.

References

1. G. Alberti, G. Bouchitté and P. Seppecher, Phase transition with the line-tension effect, *Arch. Ration. Mech. Anal.*, **144**(1998), 1-46.
2. E. D. Nezza, G. Palatucci and E. Valdinoci, Hitchhiker's guide to the fractional Sobolev spaces, *Bull. Sci. Math.*, **136** (2011), 521-573.
3. B. N. Abdallah, A. Mellet and M. Puel, Fractional diffusion limit for collisional kinetic equations: a Hilbert expansion approach, *Arch. Ration. Mech. Anal.*, **199** (2011), 493-525.
4. L. Silvestre, Regularity of the obstacle problem for a fractional power of the Laplace operator, *Commun. Pure Appl. Math.*, **60**(2007), 67-112.
5. B. Abdellaoui, E. Colorado and I. Peral, Effect of the boundary conditions in the behavior of the optimal constant of some Caarelli-Kohn-Nirenberg inequalities. Application to some doubly critical nonlinear elliptic problems, *Adv. Di. Equations*, **11** (2006), no.6, 667-720.
6. R. Alsaedi, A. Dhifli and A. Ghanmi, Low perturbations of p -biharmonic equations with competing nonlinearities, *Complex Var. Elliptic Equ.*, (2020), DOI:10.1080/17476933.2020.1747057.

7. G. Alberti, G. Bouchitte and P. Seppecher; Phase transition with the line-tension effect, *Arch. Rational Mech. Anal.*, **144** (1998), 1-46.
8. A. Ambrosetti, H. Brezis and G. Cerami, Combined effects of concave and convex nonlinearities in some elliptic problems, *J. Funct. Anal.*, **122** (1994), 519-543.
9. D. Applebaum, Lévy Processes and Stochastic Calculus. Seconded, *Camb. Stud. Adv. Math.*, **116**. Cambridge University Press, Cambridge (2009).
10. B. Barrios, E. Colorado, R. Servadei and F. Soria, A critical fractional equation with concave-convex power nonlinearities (2013). <http://arxiv.org/abs/1306.3190>.
11. P. W. Bates, On some nonlocal evolution equations arising in materials science, In *Nonlinear Dynamics and Evolution Equations*, Vol.48 of Fields Inst. 6. Commun., 13-52. Amer. Math. Soc., Providence, RI, 200.
12. P. Biler, G. Karch and W. A. Woyczynski, Critical nonlinearity exponent and self-similar asymptotics for Levy conservation laws, *Ann. Inst. H. Poincaré Anal. Non Linéaire*, **18**(2001), 613-637.
13. H. Brezis, Analyse fonctionnelle. Théorie et applications. Masson, Paris, 1983.
14. K. J. Brown and T. F. Wu, A fibering map approach to a semilinear elliptic boundary value problem, *Electron. J. Dier. Equ.*, **69**(2007), 1-9.
15. K. J. Brown and Y. Zhang, The Nehari manifold for a semilinear elliptic equation with a sign-changing weight function, *J. Dier. Equ.*, **193** (2003), 481-499.
16. L. Boccardo, M. Escobedo and I. Peral, A Dirichlet problem involving critical exponents, *Nonlinear Anal.*, **24** (1995), no.11, 1639-1648.
17. C. Bucur and E. Valdinoci, Nonlocal diffusion and applications, *Lecture Notes of the Unione Matematica Italiana*, 20, Springer, [Cham]; Unione Matematica Italiana, Bologna, 2016. xii+155 pp.
18. L. Caarelli and L. Silvestre, An extension problem related to the fractional Laplacian, *Commun. Partial Dier. Equ.* **32**(2007), No.8, 1245-1260.
19. F. Charro, E. Colorado and I. Peral, Multiplicity of solutions to uniformly elliptic fully nonlinear equations with concave-convex right-hand side, *J. Differential Equations*, **246** (2009), no.11, 4221-4248.
20. W. Chen and S. Deng, The Nehari manifold for a fractional p -Laplacian system involving concave-convex nonlinearities, *Nonlinear Anal. Real World Appl.*, **27**(2016), 80-92.
21. W. Chen, C. Li and B. Ou, Classification of solutions for an integral equation, *Comm. Pure Appl. Math.*, **59** (2006), 330-343.
22. W. Craig and D. P. Nicholls, Travelling two and three dimensional capillary gravity water waves, *SIAM J. Math. Anal.*, **32** (2000), 32-359.
23. W. Craig, U. Schanz and C. Sulem, The modulational regime of three-dimensional water waves and the Davey-Stewartson system, *Ann. Inst. H. Poincaré Anal. Non Linéaire*, **14** (1997), 615-667.

24. E. Colorado and I. Peral, Semilinear elliptic problems with mixed Dirichlet-Neumann boundary conditions, *J. Funct. Anal.*, **199** (2003), 468-507.
25. A. Cotsiolis and N. Tavoularis, Best constants for Sobolev inequalities for higher order fractional derivatives, *J. Math. Anal. Appl.*, **295** (2004), 225-236.
26. P. Drabek and S. I. Pohozaev, Positive solutions for the p -Laplacian: application of the fibering method, *Proc. R. Soc. Edinb. Sect. A*, **127** (1997), 703-726.
27. J. Garca-Azorero and I. Peral, Multiplicity of solutions for elliptic problems with critical expo-nent or with non-symmetric term, *Trans. Amer. Math. Soc.*, **323** (1991), no. 2, 877-895.
28. A. Ghanmi, Multiplicity of nontrivial solutions of a class of fractional p -Laplacian problem, *Z. Anal. Anwend.*, **34**(2015), 309-319.
29. A. Ghanmi and K. Saoudi, The Nehari manifold for a singular elliptic equation involving the fractional Laplace operator, *Fract. Dier. Calc.* **6**(2016), No.2, 201-217.
30. A. Ghanmi and K. Saoudi, A multiplicity results for a singular problem involving the fractional p -Laplacian operator, *Complex Var. Elliptic Equ.* **61**(2016), No.9, 1199-1216.
31. K. Saoudi, A. Ghanmi and S. Horrigue, Multiplicity of solutions for elliptic equations involving fractional operator and sign-changing nonlinearity, *J. Pseudo-Differ. Oper. Appl.*, **11** (2020), 1743-1756. <https://doi.org/10.1007/s11868-020-00357-9>
32. J. Serra and X. Ros-Oton, The Dirichlet problem for the fractional Laplacian: regularity up to the boundary, *J. Math. Pures Appl.*, **101** (2014), 275-302.
33. R. Servadei and E. Valdinoci, Mountain pass solutions for non-local elliptic operators, *J. Math. Anal. Appl.*, **389**(2012), 887-898.
34. R. Servadei and E. Valdinoci, Variational methods for non-local operators of elliptic type, *Discret. Contin. Dyn. Syst.*, **5** (2013), 2105-2137.
35. R. Servadei and E. Valdinoci, The Brezis-Nirenberg result for the fractional Laplacian, *Trans. Am. Math. Soc.*, **367**(2015), 67-102.
36. X. Shang, J. Zhang and Y. Yang, Positive solutions of nonhomogeneous fractional Laplacian problem with critical exponent, *Comm. Pure Appl. Anal.*, **13**(2014), 567-584.
37. L. Silvestre, Regularity of the obstacle problem for a fractional power of the Laplace operator, *Comm. Pure Appl. Math.*, **60** (2007), 67-112. 1, 16.
38. Y. Sire and E. Valdinoci, Fractional Laplacian phase transitions and boundary reactions: a geometric inequality and a symmetry result, *J. Funct. Anal.*, **256** (2009), 1842-1864.
39. J. Tan, The Brézis-Nirenberg type problem involving the square root of the Laplacian, *Calc. Var. Partial Differential Equations*, **36**(2011), 21-41.
40. M. Willem;, *Minimax Theorems*, Birkh. Auser, Boston, 1996.

41. H. Yin, Existence results for classes of quasilinear elliptic systems with sign-changing weight, *International Journal of Nonlinear Science*, **1** (2010), 53-60.
42. J. Giacomoni, J. Hernandez and P.Sauvy, Quasilinear and singular elliptic systems, *J. math. AP*, (2013).
43. Y. Shen and J. zhang, JH : Multiplicity of positive solutions for a semilinear p -Laplacian system with Sobolev critical exponent, *Nonlinear Anal.*, **74** (2011), 1019-1030.